Bt 1 PA/SESE VRO CUFzE £ 72202 EIE) ¢ MC HF Al )

WD 2 KB & T A AR L WD 2 WD L TH A %R & WD 2 B O L TH A AR &,
1) y=x>—2x—2 2) y=2x%4+8x—1 1) y=x242x-1 2) y=—x242243 (3) y=2x2—4x—-2 i yz%xz—%x—i-l—go @ y=2x’—3x—2 3 y:%x2+2x
(3) y=—x"—6x—5 4) y=-3x"+6x—4 4) y=-2x"—-8x—6 (5 y=x’+x—1 6) y=—2x"+6x
(=12 =2+ 1) x+4 —(2x+1)(1—
6) y=x'-3r+3 6 y=-2x'—5x—1 T y=3r'+6r4+3  § y=-3c'—18r-17 (O y=8x—x’ @ ==l emd . A i
) 7) y=x2—2x—2 ® y=2x2+8x—1 O y=—x4dx—4
M) y=—gxi=2x ® y=(x+2(x—1) ) .
1) Bl r=—1, f(=1, —2) @ mEEgr=1, s, 4 10) y=x’+3v+3 I 12) y=(x+2)(2x—1)
(3) EMx=1, H(1, —4) 4) Efxr=-2, K(-2, 2)
mE i, TESOEC 1 1 5 3 3 9
U Er=1, A0 =3 @ Ea=-2 (=2 -9) ® dia=—g, f(-5 -] © dhi=y, 85 ) w5 () B2 502 o was=d, n(E -B)
(3) [ﬁ‘%x:—& )ﬁ(—& 4) (4) ﬁf(ﬁx=1, )ﬁ(l, —1) (7> E%ﬁx:—l, /'ﬁ<—1y 0) (8) E,%;%x=—3, /'ﬁ<—3, 10) 3 3 1
Wa=—2, A (=2 — B r=, (S, ——
6 i x=, E(% %) © woa=—2 w2 %) ©) r=4, 54, 16) ®) Hr=-2 &(-2 -2 @ =g <2 4)
5 5 9 1 1 9
"\7 = -5 1';1\?\ — 5 — 5 fv =7 1';1\?\ Y
7 R x=—2, (=2 2 ® [ﬁﬁx:—%, E(—% —%) (6) W r=—7, ( 2 2) 6) iR r=7 <4 8)
@ E#Ex=1, A1, —3) ®) Eix=—2 f(—2 —9)
O B x=2 £2 0) 10) Ef =3, ,ﬁ<—3, —%)




